NOTE: ALL DIMENSIONS HAVE 20,015 TOLERANCE
UNLESS OTHERWISE SPECIFIED

MATERIAL:

NOTE: MOUNTING BOSSES USE EITHER M2 METRIC OR #4 STD, SHEET METAL SCREWS x 0.230” LG

IMPACT RESISTANT POLYSTYRENE C(UL94-HB)
FINISH:  DOUBLE-TEXTURED PC BONE GRAY

PC-11406 & PC-11408 SUPPLIED WITH TwO (@) #6 x 1.730" LG, SCREWS & FOUR (4) RUBBER FEET FOR ASSEMBLY
PC-11410 & PC-11412 SUPPLIED WITH TwWO (@) #6 x 2.500” LG SCREWS & FOUR (4> RUBBER FEET FOR ASSEMBLY,
PC-11414 & PC-11416 SUPPLIED WITH TWO @) #6 x 3.250" LG. SCREWS & FOUR (4) RUBBER FEET FOR ASSEMBLY.

¥ — NUT RETAINERS NOT INCLUDED IN THE BASES OF UNITS MARKED WITH ASTERICKS

PART PART _ _
NAME PLASTICASE No. PC-11406 TO PC-11416
0.281 DIA. BOSS
WITH 0,091 DIA, HOLE
(18) PLACES
| R / e
) E | %’
| 5 1
‘«— 0,192 |
2.000 )
i
e | 11 %‘ S N DY
~/ \/I
|
W £003-650 L 0065 WIDE & |
: 0.071 HIGH REF, |
; 0047 | r 0079
© © ©) ﬁl $ i i i 5
1.160 F | i 0,456 0600 [ . [
! V: R $ $ s i s B R—
0.293 JA f Jnn o
0420 . STYLE “A STYLE “B
— B —
0.062 R,
¢ (4) PLACES TYP.
=TT =T
|| 1.260
L N
A C &H D FHe—— L | PANEL- 0.090 THICK | EXPOSED
l ¢ B f ¢ PANEL
[
[ *
= : - et i S - — — — -
0.125 JA 0.275 JA —~————— P
STYLE “p"
e~ M —
rP H F—— T | f————LJ—‘ I f - - - - - - -
I 1 B
L |_J' I I N
O — D = & L PANEL- 0.090 THICK EXPOSED
F_ A | | PANEL
[
‘ £ Ll 1260 L | | ¢
L I W e
0.125 JA 0.275 JA f
STYLE "B

(NOT SUPPLIED).

PART No. [STYLE| A B C D E F G H J K L M N P
¥ PC-11406 | A | 2920 | 6120 | 2270 | 1970 | -—— | 5000 | 5280 | 3.770 | 2180 | 0.880 | 2,310 | 5.7/30 | 2.180 | 3.630
PC-11408 | A 2520 | 8100 | 2270 | 1970 | --—- | 6980 | 7260 | 7,730 | 3120 | 0930 | 2310 | 7,730 | 2180 | 7.630
¥ PC-11410 | B | 3300 | 6120 | 3.050 | 2750 | 2.040 | 5.000 | 9280 | ./70 | 2180 | 0.880 | 3.080 | 5./30 | 2930 | 9,630
PC-11412 | B | 3300 | 8100 | 3.050 | 2./30 | 2.040 | 6980 | 7.260 | 7./30 | 3120 | 0,930 | 3.080 | 7.730 | 2930 | 7,630
¥ PC-11414 | B | 4040 | 6120 | 3790 | 3490 | 2780 | 5.000 | 9280 | .7/70 | 2180 | 0.880 | 3.830 | 5./30 | 3.680 | 9,630
PC-11416 | B | 4040 | 8100 | 3.790 | 3.490 | 2.780 | 6980 | 7.260 | 7.730 | 3120 | 0930 | 3.830 | 7.730 | 3.680 | 7.630




AMEYA360

Components Supply Platform

Authorized Distribution Brand :

@ Sunlord | | SSMsusumu | | G averLoGIC x

n 5 _
@ aalle bt m e
2Pai Sami Arribarsls C_

Canaanlek Sipabawins

o B

Website :

Welcome to visit  www.ameya360.com

Contact Us :
= Address :

401 Building No.5, JiuGe Business Center, Lane 2301, Yishan Rd
Minhang District, Shanghai, China

> Sales :

Direct +86 (21) 6401-6692

Email amall@ameya360.com
QQ 800077892
Skype ameyasalesl ameyasales?2

= Customer Service :

Email service@ameya360.com

= Partnership :
Tel  +86 (21) 64016692-8333

Email mkt@ameya360.com


www.ameya360.com
www.rohm.com.cn/web/china
www.sunlordinc.com
www.susumu.sh.cn
www.averlogic.com
www.nxp.com
http://www.ameya360.com/mfrdetail/2Pai_Semiconductor
http://www.ameya360.com/mfrdetail/Ambarella
http://www.ameya360.com/mfrdetail/CanaanTek
http://www.ameya360.com/mfrdetail/Firstohm
http://www.ameya360.com/mfrdetail/GigaDevice
http://www.ameya360.com/mfrdetail/Vanguard_Semiconductor
www.elprotronic.com

